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PCs Forever is a company that produces personal computers. It has
been in operation for two-years and is ai capacity. It is considering an
investment project to expand its production capacity. The project requires
an initial outlay of $1,000,000: $800,000 for new equipment with an
expected life of four years and $200,000 for additional working capital.
The selling price of its PCs is $1,800 per unit, and annual sales are
expected to increase by 1,000 units as & result of the proposed expansion.
Annual fixed costs (excluding depreciation of the new equipment) will
increase by $100,000, and variable costs are $1,400 per uwnit. The new
equipment will be depreciated over four years using the straight line
method with a zero salvage value. The hurdle rate for the project is 12%
per year, and the company pays income tax at the rate of 40%.

a. What is the accounting break-even point for this project?
b. What is the project’s NP7
c. At what volume of sales would the NPV be zero?
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Answer the following questions:

(1) It is said that the equity in a levered firm is like a call option on

 the underlying assets. Explain what is meant by this statement.

(2) Does market efficiency mean you can throw darts at The Wall
Street Journal listing of New York Stock Exchange stocks to pick
a portfolio? '

~ (3) What is the difference between an asset beta and an equity beta.

(4} What are problems with the IRR approach applying to mutually
exclusive projects?

(5} In. the May 4, 1981, issue of Fortune, an article entitled “Fresh
Evidence That Dividends Don’t Maiter” stated, “All told, 115
companies of the 500 [ largest industrial corporations] raised their
payout every year during the period [1970-1985]. Investors in
this..,group would have fared somewhat better than investors in
the 500 as a whole: the median total [annual compound] return of

_ the 115 was 10.7% during the decade versus 9.4% for the 500.”
Is this evidence that investors prefer dividends to capital gains?
Why or why not? |
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